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Moltiplicazioni (verticali) Nome:
Risolvi ogni operazione. Risposte
1) 775 2) 546 3) 795 4) 576
x 79 x_ 88 X 25 x 13 1
2
3
4,
5) 490 6) 660 7) 507 8 321
X 35 X 82 X 41 X 33 5
6.
7.
8.
9) 142 10) 430 11) 943 12) 509
X 30 X 11 X 32 X 22 9
10.
11.
12.
13) 405 14) 530 15) 977 16) 915
X 33 X 32 X 64 X 47
13.
14.
15.
16.
17) 156 18) 735 19) 387 20) 414
X 21 X 32 X 25 X 85
17.
18.
19.
20.
- 1-10 [95]90]85[80] 75] 70] 65] 60 55 50
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Moltiplicazioni (verticali) Nome:  Soluzioni
Risolvi ogni operazione. Risposte
1) 775 2) 546 3) 795 4) 576
x 170 x 88 x 25 x 13 1 54.250
0 4.368 3.975 1.728 '
+54.250 +43.680 +15.900 +5.760
54.250 48.048 19.875 7.488 2. _438.048
3 19.875
a 7.488
5) 490 6) 660 7) 507 8) 321
x 35 x 82 x 41 x 33 5 17.150
2.450 1.320 507 963 '
+14.700 +52.800 +20.280 +9.630
17.150 54.120 20.787 10.593 6. _ 94.120
7 20.787
8 10.593
9) 142 10) 430 11) 943 12) 509
x 30 x 11 x 32 x 22 9 4.260
0 430 1.886 1.018 ' :
+4.260 +4.300 +28.290 +10.180
4.260 4.730 30.176 11.198 0. 4.730
11 30.176
1 11.198
13) 405 14) 530 15) 977 16) 915
x 33 x 32 x 64 x 47 13.365
1.215 1.060 3.908 6.405 13. :
+12.150 +15.900 +58.620 +36.600
13.365 16.960 62.528 43.005 14.  16.960
15, 62.528
6.  43.005
17) 156 18) 735 19) 387 20) 414
x 21 x 32 x 25 x 85
156 1.470 1.935 2.070 7. __ 3276
+3.120 +22.050 +7.740 +33.120
3.276 23.520 9.675 35.190 18, 23.520
19, 9.675
o0 35.190
. 1-10 195190(85|80|75| 70| 65|60 |55 |50
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Moltiplicazioni (verticali) Nome:
Risolvi ogni operazione. Risposte
N\
54.250 7.488 17.150 54.120
1
20.787 11.198 19.875 4.260
L 48.048 4.730 30.176 10.593 ) 2
3
1) 775 2) 546 3) 795 4 576 .
x 70 x 88 x 25 x 13 |
5.
6.
7.
8.
5) 490 6) 660 7) 507 8 321
x 35 x 82 x 41 x 33 >
10.
11.
12.
9 142 10) 430 11) 943 12) 509
x 30 x 11 x 32 x_ 22
: Semplificato 1-10 | 92]83| 75| 67|58]50] 42| 33] 25| 17|
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